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Class – 5
Worksheet - 2

Name: ________________________________          Date: ________

Q 1. Find the following missing number.

3 14 4

7 ? 8

8 26 5

(A) 30
(B) 25
(C) 36
(D) 47

Q 2. 15 × 120 = 0.01 × ______

(A) 1800
(B) 180
(C) 180000
(D) 16000

Q 3. If ⅔ of a number is 24. Then what is half of that number?

(A) 6
(B) 18
(C) 9
(D) 12

Q 4. Fill the box.

9 + 8     =    2 + 6  +             + 5

(A) 5
(B) 0

http  s  ://eLearnBuzz.net  
1 of 3  

https://eLearnBuzz.net/


eL  earnBuzz  

(C) 10 - 4
(D) 7 - 3

Q 5. Which set is different from others?

(A) BEHK
(B) MPSV
(C) GKOS
(D) FILO

Q 6. What needs to be added in 85105 to make it 1 million?

(A) 914895
(B) 915985
(C) 904895
(D) 910895

Q 7. How many parallel lines following figure has?

(A) 4
(B) 5
(C) 6
(D) 8

Q 8. The arrival time of a bus at a stop is 8:15 am. If the bus is late by 50 
minutes, then at what time will the bus reach at that stop?

(A) 8:50 am
(B) 9:05 am
(C) 9:50 am
(D) 7:25 am
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Q 9. If the cost of 15 shirts is Rs. 1050, then find the cost of 20 such shirts.

(A) Rs. 1100
(B) Rs. 1300
(C) Rs. 1400
(D) Rs. 1200

Q 10. Solve the following:

⅔ + 4⅔

(A) 12/3
(B) 14/3
(C) 17/3
(D) 52/3

Q 11. Find the Right angle.

(A) 45°
(B) 90°
(C) 135°
(D) 180°

Q 12. What you will get, if you divide smallest 8-digit number by 125?

(A) 1000
(B) 8000
(C) 10000
(D) 80000

***
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